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Introduction

Candidates should be commended on their engagement with the exam paper. Most 
candidates have worked hard throughout this paper, making attempts at all questions, which 
was very positive to see.

The examination structure provided a range of question types over the compulsory research 
methods and mathematics section, and five optional sections from which centres select any 
two of the five available. Many candidates demonstrated good psychological knowledge and 
understanding in this examination. Some candidates responded to all options available on 
the paper, which would have undoubtedly limited their time available to respond well to the 
two chosen options they had learned.

Strengths were seen in the calculations and understanding of mathematical skills. Most were 
able to respond to all questions, and most candidates were able to access marks in the 
mathematical skills.

Application to scenario-based questions was mixed, and candidates would benefit from 
developing this skill for future exams. Whilst application in extended essays was generally 
good, the application in shorter response questions posed some difficulties for some 
candidates. They did not often make links to the stimulus material, to answer the questions 
posed.

Candidate responses to the essays were mixed. Limitations were seen in the Assessment 
Objective (AO) skills, with the AO1 skill of demonstrating their understanding, seen in most of 
the extended written answers across most options. At times, there was also evidence that 
candidates found it difficult to include in their answers a demonstration of appropriate AO3 
assessment and evaluation. AO2 was usually good, but candidates should be careful not 
simply to copy sections of the stimulus material.

Centres should remind candidates that if they require additional space for their answer, this 
must be on additional paper and not in white spaces or on other pages in the exam booklet.

Some candidates bullet-pointed lists of content in extended essays: this may indicate that 
exam timing skills would benefit from practice. Candidates should be reminded to write in 
essay format.

The remainder of this Examiner Report will focus on each individual question and specific 
example. The aim is to highlight areas of good practice and some common errors, which can 
be used to help prepare candidates for future 1PS0/02 examinations.
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Question 1 (b)

This question required candidates to give two ways that Andrew could have standardised his 
procedure.

Most candidates were able to achieve two marks here, often for content such as the same:

trigrams
time to view them
time to recall them

Where candidates performed less well, they did not know what standardising a procedure 
meant and often gave answers about controls, participant variables, sampling or ethics.

This candidate gives a generic answer.

Total: 0 Marks
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Each point is applied appropriately to the scenario.

Total: 2 Marks
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Question 1 (c)

This question required candidates to calculate the ratio of males to females.

Most candidates could achieve 2 marks for a simplified ratio, but where candidates 
performed less well, they often did not simplify and therefore achieved the one mark for 
calculating five males.

Some gave incorrect answers, and a few left this question blank.

Calculation of 5 males (1)
Simplified ratio (1)

Total: 2 marks
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Question 1 (d)

This question required candidates to calculate a percentage.

Most candidates achieved the mark for this question.

Calculation of 11 (1)
Percentage of 55% (1)

Total: 2 Marks
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Question 1 (e)

This question required candidates to explain one conclusion that Andrew could make about 
short-term memory from the results in Table 1.

Some candidates were able to achieve two marks for an appropriate conclusion, justified by 
the data from the table.

Many candidates had misunderstood the data and therefore made incorrect conclusions 
about either the:

number of trigrams being the number shown to people or
data being the number of trigrams actually recalled, rather than participants, or
that the proportion of females remembering more trigrams was higher, when it is, in fact, 
lower than males

Some rote-learned responses about short-term memory were seen, given answers of 7 +/-2 
or 5-9 items, whereas the data in Table 1 does not suggest this.

Appropriate conclusion (1)
Justification using the results (1)

Total: 2 Marks
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Question 2 (a)

This question required candidates to calculate a fraction. Most were able to achieve the 
marks for this question.

Total: 1 Mark

9 GCSE Psychology 1PS0 02



Question 2 (b)

This question required candidates to complete a bar chart.

Some were able to achieve marks for the bars and the label, some only achieved marks for 
the bars. Very few achieved no marks here.

Correct label and scale of the axis (1)
Each correctly plotted bar (2)

Total: 3 Marks
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Question 3 (a)

This question required candidates to define a structured interview.

Many candidates were able to give creditworthy responses here: where errors were seen, 
they often confused generic interview points about conversations, asking questions in 
general or having the same location.

An accurate definition (1)
Total: 1 Mark
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Question 3 (b)

This question required candidates to describe how Juliet could have used a random sampling 
technique.

There were mixed answers here, with some candidates achieving both the knowledge and 
application for full marks.

Where candidates missed marks, it was largely the AO2 that was often credited for one mark, 
with the AO1 missing. Some candidates gave tautological responses, simply stating that 
random sampling was random.

One AO1 mark is given for the idea that random sampling can be 
used by putting names into a hat, so everyone has an equal chance 
of being picked (1)

There is no AO2 here because the candidate has gone on to repeat 
their point, just adding the name 'Juliet'.

Application for AO2 requires more than adding a name and should link 
back to the stimulus material.

Total: 1 Mark
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Question 3 (c)

This question required candidates to identify the type of data Juliet gathered.

Most candidates achieved the mark, for either quantitative or primary data.

Where candidates performed less well, the responses were usually incorrect statements of 
qualitative data, subjective data, or secondary data.

Correct identification of primary data (1)
Total: 1 Mark

13 GCSE Psychology 1PS0 02



Question 3 (d)

This question required candidates to calculate the mode.

Most candidates achieved the mark here.

Where there were errors, it was usually the wrong set of data that had been used.

A correct response (1)
Total: 1 Mark
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Question 3 (e)

This question required candidates to give one way that Juliet’s findings could support the 
conclusion stated in the stem of the question.

Most candidates were able to identify the pattern or trend in the overall data to support the 
conclusion. However, some candidates gave data from a single specific participant, which 
would not, in isolation, support her conclusion.

A correct response (1)
Total: 1 Mark
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Question 4 (a)

This question required candidates to describe one reason why Jamie may have used open-
ended questions.

Most candidates achieved marks for this question. They were able to show some knowledge 
of an open-ended question and some appropriate application to the scenario of Jamie’s 
investigation.

Errors were seen in the understanding of open-ended questions where there was confusion 
with closed-ended questions. AO1 tended to be the area where candidates did not achieve 
marks, if partial marks were awarded.

AO1 mark for the understanding of an open-ended question (1)
Total: 1 Mark
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AO2 mark for application of the response to the scenario (1)
Total: 1 Mark
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Question 4 (b)

This question required candidates to state one ethical issue that Jamie should have 
considered.

Some candidates were able to state an ethical issue. There was a range of possible answers 
that were creditable.

Those used most frequently were:

a right to withdraw
confidentiality

However, overall this question was not well-answered, with many of the candidate responses 
seen not stating an ethical issue. Instead, they gave responses about variables, validity, 
reliability, sampling or personality and experiences of the participants.

A correct response (1)
Total: 1 Mark
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Question 4 (c)

This question required candidates to calculate the median score. Most candidates achieved 
the marks here.

Rank ordering of the data (1)
Correct median score (1)

Total: 2 Marks
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Question 4 (d)

This question required candidates to calculate the range. Most candidates achieved the mark 
for this question.

A correct response (1)

Total: 1 Mark

One mark
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Question 5

Question (Q)5 was a 12-mark methods essay.

This question required candidates to evaluate the use of natural experiments to investigate 
human behaviour.

There was a range of answers to this question. Where candidates achieved well, they had a 
good understanding of natural experiments and could apply and evaluate these. However, 
towards the lower end of the range, there were some limited answers, often confusing a 
natural experiment with field experiments and/or observations.

Overall, the AO1 understanding of natural experiments was limited. Often, simple statements 
such as: 'in a natural environment' were made and little else was developed.

AO2 was largely the stronger area, with most candidates drawing from the stimulus material 
to apply their understanding and subsequent evaluations.

The AO3 was at times generic. Candidates made statements about concepts without links to 
the method, such as ethics as a strength or weakness, but not saying which, or why, or what, 
ethical issues may be relevant to a natural experiment.

Where candidates did not achieve marks, they often discussed the role of television in eating 
disorders and missed the purpose of the question.
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Although rarely seen, the candidate here makes no links to the 
stimulus material and provides more of a 'rote-learned' answer.

Candidates should be reminded that they should refer back to the 
stimulus to meet the AO2 criteria and enable them to develop their 
responses in relation to the scenario study provided.

AO1 strong: Level 2

AO2 no application: Level 0

AO3 strong: Level 2

Total: 5 Marks
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AO1: Level 3

AO2: Level 4

AO3: Level 4

Total: 10 Marks
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Question 7

This question required candidates to state what is meant by a ‘secondary reinforcer’.

Most candidates were able to achieve a mark here. Where marks were not awarded the 
candidates often referred to examples such as the police or the army being enforcers.

A correct response (1)
Total: 1 Mark
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Question 8

This question required candidates to describe how vicarious reinforcement could lead to a 
person learning criminal behaviour.

Some candidates achieved both marks here.

Many candidates achieved one mark for basic responses, whilst a number of candidates had 
confused this with direct positive reinforcement and/or negative reinforcement.

AO1 knowledge of vicarious reinforcement (1)
AO1 second mark showing understanding of how this leads to 
learning criminal behaviour (1)

Total: 2 Marks
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Question 9

This question required candidates to explain how community sentencing could be used with 
Liam.

This question was usually answered well.

Where candidates did not achieve marks, it was often the omission of AO1 knowledge that 
this was a criminal sentence or form of punishment. Consequently, candidates then, 
frequently, only achieved the AO2 mark, for what Liam could do as his community sentence.

AO1: understanding a community sentence (1)
AO2: how this could be used with Liam (1)

Total: 2 Marks
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Question 10

This question required candidates to explain one reason why Jayne may have started a fight 
with her sister, using social learning theory to justify their answer.

Candidates' responses to this question were largely generic, which was disappointing.

Some candidates were able to link the concept of social learning theory to the actual 
behaviour of Jayne in terms of her learned behavioural action of fighting. However, many 
candidates only used names and gave a generic answer that did not relate to the behaviour 
of fighting that Jayne had learned from Harriett.

Where candidates did make the AO2 link, they were often able to achieve the AO3 mark. At 
times, there were examples of candidates simply making the same statement for the AO3 as 
they had for their AO2 point, without adding or justifying their AO2 reason using the theory.
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This is a good example of how the AO2 and AO3 points present 
different elements of the concepts to give:

the reason for Jayne fighting (attention and retention) and to
justify this reason with reference to theoretical features of 
observation, imitation and role model behaviours

Marks are given for:

AO2 for the process of Jayne paying attention to the fight and 
reproducing this (1)
AO3 for justification that this is because behaviour imitation is a 
result of observing (watching) a role model (1)

Total: 2 Marks
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Question 11

This question required candidates to explain one strength and one weakness of using 
positive punishment with Edward, to improve his behaviour.

Some candidates were able to gain marks for this question, and this was more often for the 
weakness rather than the strength.

Some good weaknesses were seen. They gave the concept that positive punishment would 
not address underlying issues such as his personality, or biological factors, that may be 
causing him to swear at staff, play loud music. Such responses often achieved good marks.

Many generic responses were seen, which had no link to the use of positive punishment for 
Edward's actual behaviour. Many candidates confused positive punishment with positive 
reinforcement, thinking Edward was being praised for his anti-social behaviours, thus giving 
inaccurate answers for the strength, and often the weakness, in these cases.
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Strength: AO2 (1)
Weakness: AO2 (1) AO3 (1)

Total: 3 Marks
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Question 12

Q12 is a 9-mark essay.

This question required candidates to assess how well prison could prevent Jeff from 

re-offending.

Some candidates presented strong responses here, demonstrating good skills across AO1 
and AO2 with some good AO3 content.

Where candidates achieved less-well, they had often shown limited AO1 understanding of 
prison. Sometimes they gave definitions of operant conditioning and its features, rather than 
with a focus on prison.

In some cases, AO2 was largely unlinked to the question, for example discussing what Jeff 
had done, and how his family may feel.

For AO3, some candidates achieved well with good understanding about prison recidivism 
rates and data, and use of social learning theory as a weakness of going to prison.
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AO1 Level 2

AO2 Level 3

AO3 Level 3

Total: 8 Marks
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Question 14

This question required candidates to state what is meant by ‘congruence’.

While some candidates were able to define this term, overall, it was answered poorly, with 
much confusion between ‘congregate’ or ‘congregation’, and also 'compliance'. As a result, 
many candidates did not achieve marks here.

A correct response (1)
Total: 1 Mark
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Question 15

This question required candidates to describe how a belief in free-will influences socially-
desirable behaviour.

Many candidates seemed to believe that free-will would be allowing people to do as they 
pleased, which would cause riots and chaos and undesirable behaviour.

Where candidates did achieve marks, they often drew upon the example of cheating and not 
cheating, to show pro-social behaviour.

AO1 first mark for awareness of free-will leading to being in control 
of own actions (1)
AO1 second mark for influence on socially-desirable behaviour by 
choosing to act morally (1)

Total: 2 Marks
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Question 16

This question required candidates to explain how Karen can use a personality scale to 
measure her personality.

There was a range of responses by candidates for this question. Although the AO2 was 
limited at times, there were many candidates who achieved the AO1 for understanding how 
to measure personality.

AO1 one mark for knowing personality scales are a scoring system 
for different traits (1)
AO2 application to Karen linked to her neat, tidy, organised 
characteristics (1)

Total: 2 Marks
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Question 17

This question required candidates to explain one reason why Phoebe has yet to reach self-
actualisation, using Maslow (1943) to justify their answer.

This was generally well-answered: candidates were able to achieve the AO2 on this question 
with good use of the scenario.

The AO3 was not always as effective, but where they were able to link to Maslow candidates 
often gained two marks here, for strong understanding.

AO2 Phoebe cannot self-actualise because she is divorced and not 
meeting love and belonging (1)
AO3 Justified with the requirement to progress through each stage 
sequentially and meet each one (1)

Total: 2 Marks
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Question 18

This question required candidates to explain one strength and one weakness of using 
Cattell’s (1946) 16PF personality factor assessment to measure George’s personality.

A number of candidates gave generic responses that did not address the scenario of George.

Where candidates achieved marks, they tended to be better able to draw upon a weakness of 
using Cattell’s (1946) 16PF personality factor assessment. There were some good responses 
seen about George needing self-awareness to agree with the personality assessment 
outcomes .
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Strength

AO2 that George knows about his own actions, such as relaxed, so 
agrees (1)
AO3 that some personality traits are empirically observable 
behaviours (1)

Weakness

AO2 that George may not feel he is tough all the time, so disagrees 
(1)
AO3 that the personality factors cannot predict which traits will 
apply in all contexts (1)

Total: 4 Marks
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Question 19

Q19 was a 9-mark essay.

This question required candidates to assess how well positive regard (Rogers, 1951) can 
explain the behaviour of Wilbur and Oliver.

Overall, the responses here were limited, with only some candidates able to draw upon 
Rogers (1951) in their answers.

Where there were good answers, the AO1 was often clear, with some very good AO2 
application to the stimulus material seen in these.

AO3 assessment was limited, with few judgements concerning how well this explained their 
behaviours.

Where candidates did not perform well, there was often confusion with positive 
reinforcement, process praise and/or fixed and growth mindset, rather than conditional and 
unconditional positive regard.
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AO1 Level 2

AO2 Level 2

AO3 Level 2

Total: 6 Marks
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Question 21

This question required candidates to state what is meant by ‘stereopsis’.

Candidate responses here were mixed. Where they understood the term the definitions were 
very good, with clear and accurate points given. However, many candidates defined the term 
‘stereotype’, rather than 'stereopsis'.

A correct response (1)
Total: 1 Mark
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Question 22

This question required candidates to describe how texture gradient gives the perception of 
distance.

There were some strong answers to this question, and candidates showed a good 
understanding of distance perception.

Where candidates performed less-well, they often confused texture gradient with other 
concepts in perception, such as linear perspective.

AO1 for the knowledge of what texture gradient is (second part) (1)
AO1 for the understanding that at a distance further away it would 
mean less texture/detail (1)

Total: 2 Marks

50GCSE Psychology 1PS0 02



Question 23

This question required candidates to explain why the objects are programmed to move at 
different speeds, using optic flow.

Candidates who were able to use optic flow, did so very well for AO1, although they did not 
always make the AO2 application link.

Some gave responses about the flight simulator game being more realistic and/or more 
enjoyable, rather than giving responses in relation to perception through optic flow.

AO1 understanding of optic flow (1)
AO2 application to the scenario (1)

Total: 2 Marks
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Question 24

This question required candidates to explain one way that emotion could account for 
Jennifer’s perception of the flowers.

Candidates often achieved one mark for the AO2 application link to her perception of the 
flowers

The AO3 justification with emotion as a perceptual set was not always well-developed. Only 
some candidates performed well with the justification development.

AO2 application of happy and the influence on perception 
interpretation of the flowers as bright and pretty (1)
AO3 justification using positive mood with how perceptual sets 
change visual information due to experiences (1)

Total: 2 Marks
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AO2 for Jayne's emotion of happiness leading her to perceive the 
flowers positively as beautiful (1)
AO3 for the justification using perceptual set of emotion (1)

Total: 2 Marks
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Question 25

This question required candidates to explain two ways that Gregory’s (1970) constructivist 
theory of perception could demonstrate why Marigold could perceive different images.

Some candidates achieved well here. Such candidates were able to apply their answers to the 
stimulus material, although the AO3 justification was not always developed.

Where lower performance was seen, it was often as a result of generic answers that did not 
relate to the stimulus material of Marigold and her perception of images.
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Two marks

Point 1

AO2 for of Marigold's prior knowledge about faces and people (1)

Point 2

AO2 for Marigold having seen a cup in her past experiences, so can 
see two images (1)

Total: 2 Marks
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Question 26

9-mark essay

This question required candidates to assess how well Carmichael, Hogan and Walter (1932) 
can explain why Steven and Thomas produced drawings that were different from the 
ambiguous figures.

Some candidates demonstrated very good understanding of the study and had attempted to 
apply this to the scenario for AO2. The skills of assessment were not always evident. Where 
candidates did attempt this, their responses were generally of a good standard.

Where candidates did not perform well the understanding of the study for AO1 was limited, 
and therefore the AO2 presented was often under-developed and there was little AO3.
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AO1 level 3

AO2 level 2

AO3 level 3

Total: 8 Marks
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Question 28

This question required candidates to state what is meant by the ‘latent content’ of dreams.

Candidates usually answered this question very well.

Where performance was limited, the candidate was usually unable to demonstrate that they 
understood that latent content is the hidden/deeper/underlying meaning of a dream.

A correct response (1)
Total: 1 Mark
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Question 29

This question required candidates to describe the effect of light on the sleep-wake cycle.

There were some very strong answers here, about the role of light as a trigger and how this 
impacts of the sleep-wake cycle.

Where answers were more limited, candidates had often confused how light is involved in 
the sleep-wake cycle, or stated that the brain can be tricked by lights into thinking it is 
daytime.

AO1 how light is involved in the sleep-wake cycle (1)
AO1 link to the effects of light on being awake/asleep (1)

Total: 2 Marks
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Question 30

This question required candidates to explain one sleep disorder that can account for the 
symptoms Duncan is experiencing.

This was largely very well-answered by candidates. They were able to show AO1 
understanding of narcolepsy and supplemented this with the AO2 application to Duncan's 
symptoms.

Where less-effective answers were seen, it was often due to a repetition of AO1 used with the 
name 'Duncan' for AO2, which limited the AO2 marks awarded.

AO1 understanding of narcolepsy (1)
AO2 application to the specific symptoms that Duncan

experiences (1)

Total: 2 Marks
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Question 31

This question required candidates to explain one reason why Betty’s brain activity showed 
increases while she was asleep, using a theory to justify their answer.

Candidates gave some good responses here, showing good understanding of activation 
synthesis theory.

Where lower standards of performance were seen, it was often due to the lack of AO2 
application to the scenario of Betty.

For a number of candidates, the application to the scenario was not always expressed clearly, 
with relatively limited links to Betty's brain activity and dreaming/deep sleep/REM. Whilst 
these achieved marks, it was evident that application skills were a difficulty for a number of 
candidates, and they may benefit from practising application to secure this skill.

The application here is sufficient, although it has not been developed 
to a strong level and candidates may benefit from practising the skill of 
application.


AO2 Betty's brain activity increases because she was dreaming (1)
AO3 justified with Activation Synthesis Theory (1)

Total: 2 Marks
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Question 32

This question required candidates to explain two ways that the case study of ‘Little Hans’ 
(Freud, 1909) can support Barbara’s belief that the dreams represent Amy’s fears.

A significant number of responses from candidates were generic points about Little Hans for 
this answer, without any AO2 application to Barbara's beliefs.

Some candidates used Freud's theory, instead of the study as directed in the question.

Where AO2 application was attempted, the candidates often tried to determine how or why 
Amy actually had fears of abandonment or isolation, instead of whether Barbara's belief that 
Amy's dreams represented or showed possible fears.

AO2 that Amy's dream may show that she may fear being alone 
(end) as dreams have deeper meaning (start) (1)
AO3 justified through the study (1)

Total: 2 Marks
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Question 33

Q33 was a 9-mark essay.

This question required candidates to assess how well hormones can explain the problems 
Basil has with sleeping.

Some strong answers for the AO1 content about hormones were evident, with candidates 
able to draw on understanding of a range of hormones involved in sleep.

There were some instances where candidates found it difficult to apply these ideas to Basil, 
and the application was more often the limited area in the answers to this question.

Most candidates attempted the AO3 assessment and some good examples of the use of 
research evidence were seen.
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AO1 Level 3
AO2 Level 2
AO3 Level 3

Total: 8 Marks
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Question 35

This question required candidates to state what is meant by ‘facial expressions’ as a form of 
non-verbal communication.

This was usually well-answered by most candidates

Where they performed less well, it was often because they simply re-worded the question, or 
gave vague definitions that related to any number of forms of non-verbal communication or 
body language.

This is a correct response (1)
Total: 1 Mark
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Question 36

This question required candidates to describe proxemics when communicating with close 
friends.

Overall, candidates did not achieve well for this question.

It was evident in a number of answers that candidates did not seem to know about 
proxemics or personal spaces. They gave answers regarding how they chatted to friends 
differently from other people, such as how they could use slang with friends but not adults.

AO1 knowledge of proxemics (1)
AO1 how this is related to communication with close friends (1)

Total: 2 Marks
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Question 37

This question required candidates to explain, using linguistic relativism, one reason why Ivan 
may not know the different shades of blue.

Candidates found this question challenging, and few were able to give AO1 understanding 
effectively of linguistic relativism in their answers.

Some candidates achieved marks for application to Ivan not having the words for different 
shades of blue. This was not always evident in answers, with many candidates explaining that 
Ivan is likely to be colour-blind and cannot see the shades of blue.

AO1 understanding of what linguistic relativism is (1)
AO2 application to Ivan not having the words/language to 
understand shades of blue (1)

Total: 2 Marks
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Question 38

This question required candidates to explain one reason why the two companies discuss 
their meeting time differently, using an appropriate study as justification for their answer.

The candidate responses to this question were often confused, with a large number of 
candidates discussing different time zones and/or business operating hours, rather than how 
the two people spoke about time itself.

There was minimal use of the study by Boroditsky (2001) for the AO3 justification.

AO2 for the application to how the companies discuss time 
differently (1)
AO3 supported by Boroditsky's research study using the horizontal 
and vertical aspect (1)

Total: 2 Marks
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Question 39

This question required candidates to explain two reasons for the communication shown by 
the chimpanzees at the zoo, using Darwin (1872) as justification for their answers.

Some candidates achieved the AO2 mark for application to the animal communication here, 
which was often good when included.

Where candidates attempted AO3, there were some strong examples seen across answers, 
but where performance was lowered the use of Darwin (1872) was not always effective.
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Both responses achieved:

the AO2 application to the chimpanzees (2)
the AO3 justification through the use of Darwin (1872) (2)

Total: 4 Marks
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Question 40

Q40 was a 9-mark essay.

This question required candidates to assess how well Piaget (1950) can explain the language 
development of Anton.

Candidates often found it difficult to achieve marks on this question.

Many candidates seemed confused regarding Piaget’s ideas of language development. They 
often discussed his developmental stages, with little or no link to language stages. Therefore, 
they were often limited in demonstrating AO1 content.

Some AO2 was seen in some candidates' responses and where attempted, this was often 
appropriate – although not always developed.

AO3 assessment was limited in answers to this question. Some basic comparisons were 
made to alternative explanations, but a number of candidates inaccurately used strengths 
and weaknesses in Piaget and Inhelder's (1956) study of development.
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AO1 Level 1

AO2 Level 2

AO3 Level 1

Total: 4 Marks
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Paper Summary

Based on their performance on this paper, candidates are offered the following advice:

Candidates should practise their skills for AO2 marks in the shorter questions, in order to 
give more developed responses that respond directly to the question posed with links to 
the stimulus beyond a 'name'
AO3 justification of points should be relevant to the point they have made, rather than a 
generalised statement about a theory/concept or study
While candidates can achieve AO2 and AO3 in short answer questions by writing their 
responses either way around (AO2 then AO3; or AO3 then AO2), it was often seen that 
when starting with AO3 the AO2 was, if present, subsequently very brief. In questions 
where AO3 justification of a point is required, the AO2 must be present for the award of 
the AO3 justification mark. It may benefit candidates to practise ensuring they have given 
sufficient depth in both parts of questions such as these (for example Q10, Q11; Q17, Q18; 
Q24, Q25; Q31, Q32)
Candidates should be reminded to write on additional paper and not in blank spaces or 
elsewhere in booklets.
The research methods should show understanding of the methodology for higher marks 
within the AO1 levels-based mark bands
It may benefit candidates to practise key terminology and definitions of concepts for the 
lower tariff AO1 questions

79 GCSE Psychology 1PS0 02



Grade boundaries

Grade boundaries for this, and all other papers, can be found on the website on this link:

https://qualifications.pearson.com/en/support/support-topics/results-certification/grade-
boundaries.html
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